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Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. She has collect postcards from all over the world
2. She have collected postcards from all over the world
3. She collects postcards from all over the world

4, She collect postcards from all over the world

Correct Answer :-

« She collects postcards from all over the world

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. She has been suffering badly from stress.
2. She has been suffered badly from stress.
3. She have been suffering badly from stress.

4. She have suffered badly from stress.

Correct Answer :-

« She has been suffering badly from stress.

3) Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. Secular

2. Sccissors
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3. Sacrifise

4. Sacretary

Correct Answer :-

« Secular

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelit.

1. Laboratory
2. Equality
3. Leebrality

4. knowledge

Correct Answer :-

» Leebrality

5) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

We were waiting (a)/ at the station, (b)/ were we? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

6) DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. If there is no error, mark your
answer as (d) i.e. ‘No error’.

When he was built, (a)/ the Empire State Building was (b)/ the tallest
building in the world. (c)/ No Error (d)

1. (a)
2. (b)
3. (d)
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4. ()

Correct Answer :-

7) DIRECTIONS: Find the word which can be replaced for the given sentence.
Property that descends to an heir.

1. Pediatrics

2. Atheism

3. Heritage

4. Antique

Correct Answer :-

» Heritage

8) DIRECTIONS: Find the word which can be replaced for the given sentence.
Diverse in character or content.

1. Transparent

2. Heterogeneous

3. Homogeneous

4, Opaque

Correct Answer :-

« Heterogeneous

9) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘To put down in black
and white’ in the sentence given below?

I think I understand what you are talking about, but we need to put down
the details in black and white.

1. None of the above
2. to shout loudly so that everybody can hear
3. to argue loudly

4, to write down on a paper

Correct Answer :-
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« to write down on a paper

10) DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘at the bottom of the
ladder’ in the sentence given below?

Tech start-ups may start at the bottom of the ladder economically, but given
their business model, they have a very high potential for growth.

1. None of the above
2. at the lowest level
3. at the highest level

4. in the middle position

Correct Answer :-
« at the lowest level

11) DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

The project is completely in accord with government policy.
1. quarrel

2. conflict

3. agreement

4. disagreement

Correct Answer :-

» agreement

12) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

The disease can be caused by a variety of viruses, bacteria, and other small
organisms that contaminate food or water.

1. dirty

2. stale
3. pollute
4. purify

Correct Answer :-
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13) DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

Tax has been deducted from the payments.

1. vanished

2. eliminated

3. subtracted

4. added

Correct Answer :-

« added

14) DIRECTIONS: Fill in the blank with the correct Preposition.
A real diamond can easily scratch apane____ glass.
1. among

2. with

3. of

4. between

Correct Answer :-

15) DIRECTIONS: Fill in the blank with the correct Preposition.
He was totally ignorant his progress.

1. from

2. by

3. among

4. of

Correct Answer :-

16) DIRECTIONS: Fill in the blank with the correct article.
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Welive_ few miles from the city.
1. No article required

2. the

3.an

4. a

Correct Answer :-

17) DIRECTIONS: Fill in the blank with the correct article.
I'm learning to play piano.

1. No article required

2. the

3.an

4. a

Correct Answer :-

« the

18) DIRECTIONS: Out of the given four options, choose the correct
Conjunction to fill in the blank given in the sentence.

He looked disappointed at their decision, didn't argue.
1. but

2. because

3. either

4. neither

Correct Answer :-

« but

19) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

We ran after him.
He escaped.

1. Else
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2. And
3. But

4. So

Correct Answer :-
e« But

20) DIRECTIONS: Out of the given options, choose the most appropriate one
to fill in the blank.

You your car serviced before the winter.
1. ought to have

2. ought not to

3. May

4. Might

Correct Answer :-

« ought to have

Topic:- General Science

1) The process by which a chemical change takes place in a substance when
electric current is passed through it is called-/ 98 yferar forad et uerd 4
fagga urT yanfea w1 W e g1 uerd o Tmafae ufiad= 819 €, @) $8d &-

1. Thermionic conduction/ﬂ]ﬂﬂ%aﬁﬂ
2. Electroplating/ SdacIafe
3. Electrodes/ Saiacigd

4. Electrolysis/ fagad suec

Correct Answer :-

» Electrolysis/ ﬁ@'qHB{q‘EIET-T

2) The walls of the large intestine absorb-/ TS} 3T~ ANT Hdl 8-
1. Water/ SId

2. Digested proteins/qﬁﬁm‘cﬁq

3. Digested food/ Gferd HISH
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4. Cellulose/ @Fﬂﬁ\‘r{

Correct Answer :-

« Water/ Sd

3) The acceleration due to gravity on the moon's surface is:/ W%W
TS B Jdg IR @0 &

1. Approximately equal to that near the earth's surface/ 4T dal Sl Jdl P Uag & Habc

2. Approximately six times that near the earth's surface/ Gl @! Hdg R &1 TIHT 6 T[T

3. Approximately one-sixth of that near the earth's surface/ TTH Jdt &1 Tdg & e
®11/6 T

4. Slightly greater than that near the earth's surface/ Gl @1 9dg & Adc I $o 3iftH

Correct Answer :-

. Approximately one-sixth of that near the earth's surface/ T4 Gl &1 Idg o Hdbc
@7 1/6 T

4) How does pressure vary as we move from sea level to the mountain top?/

oId g9 Y% 99 ¥ Udd & RRER 9@ oa 8, at g1 {59 yeR ufvafda g
1. Increases/aﬁ%

2. Increases upto a few kilometre and then decreases/Wﬁo_cﬁiﬂETWE@ﬂT% 3R fR
gedi g

3. Decreases upto a few kilometres and then increases/WWWWfﬁﬂT%aﬁT
R agarg

4. Decreases/ ®H Eﬁ?ﬂ %

Correct Answer :-

. Decreases/ FH BT §

5) Yeast is used in the production of-/ ¥ &1 YN & I A gl gl
1. Sugari’f‘q‘»‘ﬂ

2. None of these/ 's?lffﬁ ﬁ's‘?ﬁ

3. Alcohol/ Tehlgd

4. Oxygen/ SIS

Correct Answer :-
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« Alcohol/ Tehigd

6) In mammals the female secondary sexual chracters are developed by the

hormone./ WA # ATeI fgdiae aAffie @& S | gRT fasfid gl 8-
1. Relaxin/ Rafda=
2. Progesterone/ UIoReR=

3. Estrogens/ TS
4. Gonadotropins/ THSICIUA

Correct Answer :-

. Estrogens/ T&IoiH

7) A distance-/ T& gil-

1. Is neither positive nor negative/:r?ﬁ T - 8t BUTEHS il ©

2. Is always negative/ Ged BUTHS Bldl &

3. Is always positive/?léﬁ YT Bl 8

4. May be positive as well as negative/ YdTdHD T BUMTHD HEER %

Correct Answer :-

« Is always positive/ﬂaﬁ TS BT 8

8) Staticelectricity _ ./ ﬁnﬁgtﬁr - .
1. Sometimes flows/ &HI-&t yarfed g1t &

2. None of these/ S8 I ®Is gl

3. Flows in the circuit TRTY & ya1igd g1l §

4. Does not flow/ UaIed =g! git &

Correct Answer :-

« Does not flow/ yared el gicit &

9) Which one of the following can be used as an acid-base indicator by a
visually impared student?/ 59 & @ S19-11 €19 B gRT 3R &R Yoo & = &
SN f3aT ST YepdT 82

1. Petunia leaves/Ugfar g

2. Turmeric/ Sﬁ


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

FRESHERS NOW

3. Litmus/ foreqg

4. Vanilla essence/a=tdl 39d

Correct Answer :-

« Vanilla essence/d@=dl A9

10) Which of the following is very reactive and kept in kerosene?/ 9 # q #H-
0t wfafram=ita 8 forad SRR &) @ ST g2

1. Iodine/3MATSH
2. Bromine/siHA
3. Sodium/Aifeay
4. Potassium/dIcRIad

Correct Answer :-

« Sodium/afsad

11) Which of the following substance will not give carbon dioxide on

treatment with dilute acid?/ 59 uerdf # @ &1 91 yerd Safifda srd & T4 H1a9
SIS 3HTFATSS PI TE1 ¢ Hebdl 82

1. Marble/ IR
2. Baking soda/ dfdTT TIeT
3. Lime/ AT

4. Limestone/ ATURR

Correct Answer :-

12) Which of the following is considered as 'Kitchen' of the plant cell?/ R #
¥ fra ureu HIRMST H1 TSR’ T AR ?

1. Leucoplast/ 3quf das
2. Chromoplast/ guifaas

3. None of these/ 's?lﬁ@[ ﬁ's“l?ﬁ
4. Chloroplast/ eikd ddd

Correct Answer :-

« Chloroplast/ gRd dd®
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13) The standard unit of force is-/ 98 &1 AT® SHTS @
1. Gram-weight/ JH-HR

2. Metre/second?/HicR/AaHUs?

3. Metre/second/ HicR/AHUS

4. Newton/ gc+

Correct Answer :-

« Newton/ gcH

14) Near the earth's surface air rises up whereas air
comgs down:/ g4t a8 & IHig I SR 31 g T g
3Telt

1. Cold, cold/ 3USt, 3US
2. Hot, hot/ mq‘, T+

3. Hot, cold/ TH, 3U&!

4. Cold, hot/ 3US!, TH

Correct Answer :-

« Hot, cold/ ﬂff,BUS‘)f

15) Egg shell is made up of? / 33 HT 3G fHTA TT §3MT BT 82
1. Ca(OH),
2. CaCO;3

3. Ca0

4, CaC|2

Correct Answer :-

16) Sperms in males are produced in-/ 7R & YEHTY] IUA §Id 8-
1. Epididymis/ 3ffquor o

2. Urethra/H?FIFfff

3. Testes/ quU &
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4. Penis/ Ry A

Correct Answer :-

e Testes/ qErUTff

17) Bean shaped excretory organ of human is-/ HFd &1 3 ATHTd BT Sedsi 3T

8-

1. Ureter/TATaTig1

2. Urinary bladder/ HARY
3. Urethra/ﬂ;ﬂ'ﬁrﬂ‘f

4. Kidney/dd&

Correct Answer :-

« Kidney/dd&

18) The aqua regia is:/TgaI3oMAT &:
1. 3HCI (conc.) + 1 HNO3 (conc.)

2. 3NHO3 (conc.) + 1 HCI (conc.)

3. HNO3 (conc.) + H5S04 (conc.)

4. HHO3 (conc.) + HCI (conc.)

Correct Answer :-

e 3HCI (conc.) + 1 HNO3 (conc.)

19) Chemical formula of washing soda is:/ﬂﬂﬁ%'\‘ﬁﬁmﬂﬁw%?
1. NayC03.2H,0
2. NayC03.7H,0
3. NaC03.5H,0

4. Na»C03.10H,0

Correct Answer :-

. N32CO3.10H20

20) Which of the following is a natural luminous source of light?/ 5% H q pH-41 L'I'I?ﬁlﬁ
wfadife aTer ue=r wid 82
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1. Torch/ e

2. Sun/ﬁtf

3. Wood/ did el

4. Electric Iamp/ﬁ@'ﬂﬂ@'ﬁq

Correct Answer :-

. Sun/“&]}f

Topic:- General Knowledge

1) Virender Sehwag scored his maiden double-century in an ODI at Indore in
the year: /93 TganT A frg af A g8k & smaifora ver A9 # 3ru- SgY Wde &1 ugelt Ut
Qdr A2

1. 2010
2.2013
3.2011

4, 2012

Correct Answer :-

« 2011

2) Chinkara is a locally made instrument used in the recitation of the
Bhartrihari folk lore is actually a form of:/ RI®RI, WY ¥u F duR fHT 7€ arE
g, ol fp yJel aewus & ure # SuaNT fFaTwar g, aaa o ..., FITHFUZ

1. Dafli/ Swal
2. Sarangi/ IRt
3. Guitar/ fileR

4. Tabla/ dddl

Correct Answer :-

« Sarangi/ IR

3) Other than in Madhya Pradesh, how many other working diamond mines

are there in India? /HYeY & 3fATd], HRA A fha-l 3 Hrizhia &R &t @H 82
1.2

2.3


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

FRESHERS NOW

3.1
4.0

Correct Answer :-

« 0

4) Patalkot if seen from the top of a valley appears to be in the shape of a:/

3R T & SR A 3@ 1 2 o yraTadie 5 e 1 s dar 82
1. None of these/ 3TH ¥ &Ig gl

2. Horse-shoe/ aﬁ%’aﬁw

3. Square/ i

4, Rectangle/ 3Od

Correct Answer :-

« Horse-shoe/ 9IS @1 ATd

5) In which city was the Gyandoot scheme started by the Madhya Pradesh
government? /JFgd AISHT HHAUGRI GRBR A HIH-A R H = 3t A2

1. Dhar/ 4R
2. Datia/ &faan
3. Sagar/ 9d"R

4. Ratlam/ IddH

Correct Answer :-

6) Shankar Dayal Sharma served as the President of India from the year:/

R T T 3 et Y & IR B PR & w U A A A
1.1994
2.1993
3.1991

4.1992

Correct Answer :-

« 1992
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7) When was Kala Parishad established in Madhya Pradesh?/ﬂmﬁm
iug g W1 g8 42

1. 1951
2.1953
3.1952
4.1950

Correct Answer :-

« 1952

8) Which of the following is an important copper-ore producing district?/ ra

# A $1- 91 P AUl did] 3P SIS fore g2
1. Betul/ oqd

2. Gwalior/ TR

3. Rewa/ Sfar

4, Balaghat / dIcT™IC

Correct Answer :-

« Balaghat / dIcITdIC

9) Which of the following districts lie in the Sone VaIIey?/ﬁHﬁ@ﬁﬁlﬁﬁﬁ
DA e A et 4 82

1. Sidhi/gelt

2. None of these/3TH I s gl
3. Shahdol/TEsId

4. Both of the above/3WRIdd G-I

Correct Answer :-

« Both of the above/maﬁfﬁtﬁ

10) Who out of the following politicians was born in Madhya Pradesh?/

Frafafaa Toifasl o & fae 97 aw ud=r d gam ur?
1. Narendra Modi/ﬂi’?{ﬁ'ﬁ
2. Atal Behari Vajpayee/3fcd fogRl ammadt

3. Arun JaitIeyG{“\‘?UT@?.'Fﬁ
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4. Manmohan Singh/A7He4 Rig

Correct Answer :-

« Atal Behari Vajpayee/3/cd [9gRT aroodt

11) Which place of Madhya Pradesh is the centre for stone-carving?/qwm
BT URR B} TFHRN HT F% 32

1. Bhopal/HIdr@
2. Gwalior/TTferAR
3. Ratlam/IddmH
4. Mandu/¥Tg

Correct Answer :-

. Gwalior/i"q'm

12) When was the banyan tree declared as the state tree by the Madhya
Pradesh government? /4% UeR GRER A ¥4 §& & ¥U U SR & US I 9 Uifvd
fear?

1.1975
2. 1980
3.1981
4. 1982

Correct Answer :-

13) Which river flows through the Madhai forest?/ ﬁ?—ﬁﬂﬁﬂ@iﬁ%ﬂﬂﬁ

ol 72

1. Betwa/ dddl

2. Ken/ B

3. Tawa/ ddl

4. Manihar/ AfFER

Correct Answer :-

o Tawa/ ddl
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14) Satyadev Dubey was a renowned:/ m@wm q?
1. Sitarist/RIdR diGe®

2. Playwright/-Ilch®RR

3. Politician/RToiHifas

4. Scientist/aiﬂﬁﬁ

Correct Answer :-

« Playwright/dlc®®R

15) The Halali Reservoir is in the District of Madhya Pradesh./ gerelt
AT U U & Pradg

1. Vidisha/ fafeam
2. Hoshangabad/ HERIEIE
3. Bhopal/ Hard
4. Raisen/ XA

Correct Answer :-

. Vidisha/ fafe=m

16) The Ken-Betwa river-linking project will benefit the states of Madhya

Pradesh and:/ %1-34dT -Tdl- SIS+ arelt ufaieT aea UeRT 3R 5w Isa &t any ugaft?
1. Chhattisgarh/ SIITe
2. Uttar Pradesh/ IR e

3. Gujarat/ ToiRId
4. Rajasthan/ XTSTRIH

Correct Answer :-
. Uttar Pradesh/ STR Ue

17) The ‘Rajya Anandam Sansthan’ of the Madhya Pradesh Government will
be responsible for development of the:/ A U PR & ‘I MHGH TRIH' &

I & fore formigR gim:
1. None of these/ T 9 I a1

2. Happiness Index/ Gl gabich
3. Poverty Index/ TRisil Yadhidh
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4. Food Index/ TTel YAPbih

Correct Answer :-

- Happiness Index/ Gxit Yabih

18) The Indian Institute of Forest Management was established in the year?/

YRAT a9 YaeA IR & fore adf o winfa foam war 412
1. 1975
2.1980
3.1970
4.1982

Correct Answer :-

« 1982

19) The Shahi Qila is situated at: /28! fdar wgl RUT 8?2
1. Burhanpur / &YX

2. Chanderi / Tt

3. Hoshangabad / BIRITEIG

4. Mandu / AIg

Correct Answer :-

« Burhanpur / gRgHYR

20) Madhya Pradesh is the largest producer of in the country/HOUaY
e H BT I TST ST B¢

1. Apples/@_d

2. Oranges/daR1

3. Soybeans/?ﬁtﬂ'qa?
4. Rice/dIdd

Correct Answer :-

« Soybeans/IHTEH

Topic:- General Hindi
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1) YRR, faagR 3R HHaTed I UhTRIA THRR 97 3
1. IS U0

2. i UhTR
3. &ddd {Hd
4. GRIEY

Correct Answer :-

. gia WR Y

Correct Answer :-
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5) <3ifer e BT AT T 7 :
1, Hi_T
2. BT

3. gdl
4. AfGT

Correct Answer :-

Correct Answer :-

. Jad gl

8) ‘PU-HH HOR M AN T g, TMd-ITTd AR FRIea= ot - ufda 6 @
1. GgifR] 3ABR

2. IITRT SADR

3. STIRAIRT SiBR
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Correct Answer :-

. Fopifad SABR

9) fraA AU 1 g ITT- AT T :
1. FYeyTRe =

2. ToTHaRE®

3. HIASIYD AT
4. Taferga s T

Correct Answer :-

. BIANYPD I

10) FHAT I A Uwa 3 :
1. 4

2.3

3.1

4.9

Correct Answer :-

11) ‘Consolidated’ BT 1%"(.& TR HIN® oq % :
1. §gfd

2. Gdvyg

3. GHfdbd

4. GPPRD

Correct Answer :-

12) FGTH STHAT YETaR ST AR § :

1. Tt A1 1 qer=r o 9gd 8- g
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2. §HR BH BT
3. 3ad g4t
4. 3GHT U BT

Correct Answer :-

. fordil <l Bt I § §gd oX gl

13) ‘3(TY gId a1 a1 WA T8 IS USal- ara @ :

1. RIS dI
2. THOR[AD dH

3. fauTaras® are
4, Gparde ar

Correct Answer :-

. Tpdife arr

14) fE Wa T AR F RPA MR AR :
1. TR
2. WO

3. %GR
4. TETR

Correct Answer :-

2. ¢gX
RELIRY
4, gRHA

Correct Answer :-
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16) HId HRAAGNIPA ITHATKBT HI UTATE :
1. siol

2. HRAT

3. Afrelt

4. 3al

Correct Answer :-

17) fafafeq o foay sreg-gm 8 2
1. gIY-fapTd

2. Guc-fdgcH

3. Ggu-fagy

4. GolI-HBR

Correct Answer :-

. dau-faga

18) FafrfRa A g a8

1.39 YeH & g § fooxf) ot Iapra 1 g1
2.3 qHI H had gl SR g

3. XN ¢ fob SO TR T3 1 DI IR e T
4. TSHT SAHY ABR Glradl g3 TR T

Correct Answer :-

. ASHI ABYT AP Gredl g3 TR AT
19) FaffRT i gs =< 3 :

1. g

2.0

3. HRH

4, HH

Correct Answer :-
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20) fmfaf@e & aufa e re-gm g e
1. 3THRUL-STHRUT

2. S-S

3. Pid-glt

4. IId-AHAId

Correct Answer :-

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁ%ﬁ[: ﬂgﬁ
T 9ot | Terd ug 9rd B

10, 16, 48, 320, 4860
1. 4860

2.48

3.320

4.16

Correct Answer :-

« 4860

2) The average height of 16 students is 142 cm. If the height of the teacher
is included, the average height increases by 1 cm. The height of the teacher

is:/ 16 faenfiay &) sargal @1 sitva 142 I 81 afe Rrere 3 warg @) oft =nfire fovar sime
ot 3y wars A 1 9 FY gfS 3 ot ] 1 Rrere Y dars | g

1. 159 cm/159 It
2. 156 cm/156 I
3. 158 cm/158 9Ht

4.157 cm/157 TH

Correct Answer :-

« 159 cm/159 9t
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3) I have to be at a certain place at a certain time and I find that I shall be
15 minutes too late, if I walks at 4 km an hour; and 10 minutes too soon, if I
walks at 6 km an hour. How far (in km) have I to walk?/'ﬂ@ U WY Slilg U
TP AR 99T IR IURRIT Ig T8 Ud A uran § o afe & 4 fr.ft. ufd der dlvwmR A Sran §
@ 15 e R A vFTT vd af 6 .3, ufy ver i IR | oI § @t 10 fre vgd g
S| g fhat gt (fs. . o) @ &=t g

1.8
2.3
3.6

4.5

Correct Answer :-

4) The product of two successive numbers is 9506. Which is the smaller of
the two numbers?/ 3! HHNTG FET3M BT UHEE 9506 3| S G A Sidt "=
P R?

1. 97
2.96
3.98

4. 99

Correct Answer :-

5) The roots of the quadratic equation 2y2 -9y +9=0 are: /fgara aieor 2y2
-9y +9=0FHAR:

1.6, 3

(SR
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6) The number of revolutions made by a wheel of 28 cm diameter in covering

a distance of 8.8 km is:/U® UfgU gRT 8.8 ot Ft g a7 H | T 1T gFHA DY
T o1 g, afe ufge &1 oy 28 I @:

1. 1000
2. 8000
3.100

4.10,000

Correct Answer :-

7) In a rhombus, the lengths of two diagonals are 10 m and 24 m, then

length of side of rhombus is:/T® THAGYS & &l fAHUN Bt T3ETE 10 Hiew au1 24 Hiex
2, O I YT B} TS g

1.22 m/22 HIR
2.8 m/8 HicR

3.11 m/11 HiR
4.13 m/13 Hic?

Correct Answer :-

« 13 m/13 Hiex

8) A, B and C can do a work in 4, 6 and 10 days respectively. They finish the
work together and earn Rs.310. What is the share of each?/ A, B 3R ¢ freh
PTH B HUI: 4, 6, 3R 10 371§ RTFHT THd 21 3 TP 1Y 1 THTW F3b U8 310
FATA 81 T TP Bi fora-t Horgdl fraft?

1. Rs.140, Rs.110, Rs.60
2. Rs.160, Rs.90, Rs.60
3. Rs.150, Rs.110, Rs.50
4. Rs.150, Rs.100, Rs.60
Correct Answer :-

« Rs.150, Rs.100, Rs.60

9) A man covers a certain distance by car driving at 70 kmph and he returns
to the starting point riding on a scooter at 55 kmph. Find his average speed

for the whole journey:/ﬂ-ﬁé’ﬁ@ﬁf?ﬁﬁﬁ 70 fFi/aver 1 1fd § FR gRITT
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BT § YT 98 55 fhtii/aver 3t i & Tpex gR1 v WA fiig W 9 diear g1 a1 &
IR IPT 3R ey i

1. 63.6 kmph/63.6 f&Hl/guer
2. 64.6 kmph/64.6 faHl/guer
3.61.6 kmph/61.6 fosdi/aueT

4. 62.8 kmph/62.8 faHt/guer

Correct Answer :-

« 61.6 kmph/61.6 f&Hl/guer

10) There is sufficient food for 400 men for 31 days. After 28 days, 280 men
leave the place. For how many days will the rest of the food last for the rest

of the men? /&t 718 TR 400 =fdaal & g 31 A1 &1 WieH wafw 81 28 f&71 916 280
TR 1718 BISHT Tdl MY | F9T g1 WIS 9 gU AfFTal & dta foraq fa & o watw 82

1. 5 days/5 fa

2.12 days/12 faa
3.15 days/15 fad
4.10 days/10 fad

Correct Answer :-

« 10 days/10 f&a

11) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/fAdar: fAafefaa A # yxare g (2) & ®IH W F1 3T

12) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/fd=r: fAufafaa goft # usars e (2) & RIF ) F471 3iA1 T1ige?
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2,6,?, 20,30
1. 15
2.22
3.12

4. 10

Correct Answer :-

13) Ritesh borrowed a sum of Rs.18,350 at 15% p.a. simple interest from Meenu
for 3 years. What was the amount paid by Ritesh?/ﬁﬁ'&’rﬁtﬁﬁﬁ 159, yfaay AryrRor
T Bt X A 9 a6 & fore 18,350 3. IUR forw | A= & grR1 fat afRn & smeet?

1. 26607.5
2.27607.5
3. 25607.5

4. 24607.5

Correct Answer :-

« 26607.5

14) The least perfect square numbers which is divisible by each of the
numbers 16, 20 and 24 is?/IaH B! Yui a3 =T &1 fb G@ATSMT 16, 20 TUT 24 A
fawnfora g2

1. 6,400
2. 3,600
3. 14,400

4. 1,600

Correct Answer :-

15) A is 20 years older than B. He is also 6 times as old as B. Then what is

the age of A?/ A, B 20 T¥ T3T3 TUTA B 3G, B B AT BT 6 TATE | A B 3T FIT
a2

1. 42 years/42 CL

2. 24 years/24 T§
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3. 30 years/30 @Y

4. 35 years/35 ay

Correct Answer :-

« 24 years/24 ¥

16) The ratio of the salaries of Akhshay and Amir is 8 : 9. If Akhshay'’s salary
is increased by 50% and Amir’s salary is reduced by 25%, then their ratio
becomes 16 : 9. What is the salary of Akshay?/3&dd W%ﬁﬂﬁ&mﬁs :
9 31 Tfe 31&a BT AT 50% TSTAT ST a7 3R & da9 T 25% B H 1 W1¢ df 3rguTd 16
: O AT 8 | 31&T BT da-1 |1 8?2

1. Rs.22,000
2. Rs.28,500
3. Rs.37,000

4. Can’t be determined/sﬂ?fﬂﬁ%fﬂﬁﬂ?ﬂ%r

Correct Answer :-
« Can't be determined/sﬂ?fﬂﬁ%&ﬂﬁfﬁﬂgr

17) By selling 20 metres of cloth, a man gains the selling price of 4 metres of

cloth. The gain percent is:/ Qﬂ?m‘%?ﬁ 20 ﬁamaﬂﬁﬂ?4 ﬁaam:%%ﬁam
eI & RISR AH YT glaT 8 | ATy ufaRa 3

1. 25%
2. 30%
3.20%

4. 35%

Correct Answer :-
e 25%

18) Harshit's salary has increased from Rs.825 to Rs.900. What is the
percentage increase in his saIary?/BﬁHWéﬁ?SZSWﬁW%OW@WI
@ da+ | fran ufama $t afS g5

1. 7.07%
2. 8.08%
3.9.09%

4. 8.56%
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Correct Answer :-

« 9.09%

19) Find the smallest of the following fractions./fFafafEd =l & 9 a4 a1
i A Y|

57
1. 31

71

2. 36

91

3, 44
83
4,41

Correct Answer :-

20) Find the largest of the following fractions. /fRafefad fis # O a9 581 fu=
RIGK 2]
%
1, 66
ﬁ
2. 55
E
3, 44
%
4,33
Correct Answer :-

64
o 33
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